

Missing Numerators

Name: _____ Score: _____

Find the missing numerators.



$$\frac{1}{8} + \frac{\square}{8} = \frac{1}{4}$$

$$\frac{5}{15} + \frac{\square}{15} = \frac{2}{3}$$

$$\frac{3}{8} + \frac{\square}{8} = \frac{3}{4}$$

$$\frac{2}{10} + \frac{\square}{10} = \frac{1}{2}$$

$$\frac{7}{40} + \frac{\square}{40} = \frac{1}{4}$$

$$\frac{4}{16} + \frac{\square}{16} = \frac{3}{4}$$

$$\frac{2}{9} + \frac{\square}{9} = \frac{2}{3}$$

$$\frac{3}{9} + \frac{\square}{9} = \frac{2}{3}$$

$$\frac{1}{6} + \frac{\square}{6} = \frac{1}{3}$$

$$\frac{9}{20} + \frac{\square}{20} = \frac{3}{4}$$

$$\frac{7}{26} + \frac{\square}{26} = \frac{1}{2}$$

$$\frac{6}{30} + \frac{\square}{30} = \frac{1}{3}$$

$$\frac{2}{8} + \frac{\square}{8} = \frac{1}{2}$$

$$\frac{2}{20} + \frac{\square}{20} = \frac{1}{4}$$

$$\frac{8}{24} + \frac{\square}{24} = \frac{2}{3}$$

$$\frac{5}{8} + \frac{\square}{8} = \frac{3}{4}$$

$$\frac{7}{32} + \frac{\square}{32} = \frac{1}{2}$$

$$\frac{3}{6} + \frac{\square}{6} = \frac{2}{3}$$

$$\frac{9}{25} + \frac{\square}{25} = \frac{3}{5}$$

$$\frac{2}{6} + \frac{\square}{6} = \frac{2}{3}$$

Answers

Find the missing numerators.



$$\frac{1}{8} + \frac{1}{8} = \frac{1}{4}$$

$$\frac{5}{15} + \frac{4}{15} = \frac{2}{3}$$

$$\frac{3}{8} + \frac{3}{8} = \frac{3}{4}$$

$$\frac{2}{10} + \frac{3}{10} = \frac{1}{2}$$

$$\frac{7}{40} + \frac{3}{40} = \frac{1}{4}$$

$$\frac{4}{16} + \frac{8}{16} = \frac{3}{4}$$

$$\frac{2}{9} + \frac{4}{9} = \frac{2}{3}$$

$$\frac{3}{9} + \frac{3}{9} = \frac{2}{3}$$

$$\frac{1}{6} + \frac{1}{6} = \frac{1}{3}$$

$$\frac{9}{20} + \frac{6}{20} = \frac{3}{4}$$

$$\frac{7}{26} + \frac{6}{26} = \frac{1}{2}$$

$$\frac{6}{30} + \frac{4}{30} = \frac{1}{3}$$

$$\frac{2}{8} + \frac{2}{8} = \frac{1}{2}$$

$$\frac{2}{20} + \frac{3}{20} = \frac{1}{4}$$

$$\frac{8}{24} + \frac{8}{24} = \frac{2}{3}$$

$$\frac{5}{8} + \frac{1}{8} = \frac{3}{4}$$

$$\frac{7}{32} + \frac{9}{32} = \frac{1}{2}$$

$$\frac{3}{6} + \frac{1}{6} = \frac{2}{3}$$

$$\frac{9}{25} + \frac{6}{25} = \frac{3}{5}$$

$$\frac{2}{6} + \frac{2}{6} = \frac{2}{3}$$